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Time and Distance
A man travels by bus for 20 hours and they by train for 05 hours . if the average speed of the bus was 20 kmph and that of the entire journey was 24 kmph. What was the average speed of the train?(A) 44kmph(B) 

Latest Answer: (d)56 /30(B)...
Read Answers (2) | Asked by : arvinth_ceg
Answer Question     Subscribe 



Average Boat Speed
The speed of the boat is 36 kmph higher than that of the stream in which it travels . if it can travel 828 km downstream in 18 hours and the same in upstream in 23 hours , its average speed is __________.(A) 

Latest Answer: 36kmph ...
Read Answers (1) | Asked by : arvinth_ceg
Answer Question     Subscribe 



What is the output of the following code
What is the output of the following codeint i=7;printf("%d", i++ * i++);a) 49b) 64c) 56d) noneAntonyms of DUD = FailurePRETENTIOUS = Unassumingcomplete the series 260, 216, 128. 108, 66, 54, 

Latest Answer: a ...
Read Answers (4) | Asked by : shrihara
Answer Question     Subscribe 



"the theoritical principal of democracy is majority rule,but at least in presidential politics,majority
"the theoritical principal of democracy is majority rule,but at least in presidential politics,majority rule has never triumphed.in every presidential election,more people of voting age failed to vote than voted for the eventual winner."none of the above" is evidently the perennially favorite candidate of most citizens." the conclusion of the passege is based on which of the following assumptions?A)NOn-presidential elections are less worthy of study than are presidential elections.b)people
Read Answers (2) | Asked by : wproed

Answer Question     Subscribe 



You have 1MB of memory left on the HDD and when booting the system crashes. What is the reason? A)
You have 1MB of memory left on the HDD and when booting the system crashes. What is the reason? A) Not enough synchronous buffer B) Not enough contiguous memory in virtual memory C) Not enough space on the hard drive for the swap file. D) Not enough space on the hard drive for working memory.
Read Answers (3) | Asked by : wproed

Answer Question     Subscribe 



Pls tells me what topics are to be covered in aptitude section
Latest Answer: aptitude section cover all sorta topics like-=>speed, distance, time based questions=>ratio n proportion=>age based questions like "if x is twice more than y & y is half of middle aged brother z,who is d yongest brother?"=>some ...
Read Answers (1) | Asked by : vasu

Answer Question     Subscribe 



Wipro aptitude question papaers
Latest Answer: hi i want the paper of wipro pls. ...
Read Answers (2) | Asked by : jaya

Answer Question     Subscribe 



How can i receive the wipro aptitude questions from you
Latest Answer: I'll need Wipro latest Apptitude question,s. ...
Read Answers (1) | Asked by : vijayalakshmi

Answer Question     Subscribe 



The sum of series 1+1(1+1/n)+3(1+1/n)2+…………. Is equal to
Latest Answer: here before (1+1/n) v hve sequence of 1,3,5,7 n aftr (1+1/n) v hve sequence of 1,2,3,4...so 4 nth term v do it as (2n-1)(1+1/n)n=2n*n+n-1and sum=1+[2n-1(n)(n+1)(n+1)]/2 ...
Read Answers (6)
Answer Question     Subscribe 



CATG. : DIFFICULT+ CALCULATIVE40 men can finish a job in 40 days.5 men leave after every 10th day.find
CATG. : DIFFICULT+ CALCULATIVE40 men can finish a job in 40 days.5 men leave after every 10th day.find the no. of days. the job will be done ?
Read Answers (20) | Asked by : Sai
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If A>B then F=F(G); else B>C then F=G(G); In this, for 75% times A>B and 25% times B>C then, is 10000
If A>B then F=F(G); else B>C then F=G(G); In this, for 75% times A>B and 25% times B>C then, is 10000 instructions are there, then the ratio of F to G A. 7500:2500 B. 7500:625 C. 7500:625 
Read Answers (4)
Answer Question     Subscribe 



AbcD+abcd+aBCd+aBCD then the simplified function is (Capital letters are compliments of corresponding
AbcD+abcd+aBCd+aBCD then the simplified function is (Capital letters are compliments of corresponding letters A=compliment of A. A. a B. ab C. abc D. a(bc)* E. (bc)*=compliment of bc 
Read Answers (11)
Answer Question     Subscribe 



If symphony: compose then A. playwright: play B. child: mother 
Latest Answer: Ans is A ...
Read Answers (1)
Answer Question     Subscribe 



Find the odd one out A. entice, lure, allure, alarm. B. evince, press, exort, spur. 
Latest Answer: odd items areA. alarmB.evince ...
Read Answers (2)
Answer Question     Subscribe 



In a processor these are 120 instructions. Bits needed to implement these instructions A. 6 B. 7 C.
In a processor these are 120 instructions. Bits needed to implement these instructions A. 6 B. 7 C. 10 D. none 
Read Answers (5)
Answer Question     Subscribe 



In 8085 microprocessor READY signal does. Which of the following is incorrect statements A. It is input
In 8085 microprocessor READY signal does. Which of the following is incorrect statements A. It is input to the microprocessor B. It sequences the instructions 
Read Answers (6)
Answer Question     Subscribe 



A 12 address lines maps to the memory of A. 1k bytes B. 0.5k bytes C. 2k bytes D. none 
Latest Answer: the answer 4k is partially right...but answer is 4Kbits= 4096/8=512Bytes =0.5Kbytes ...
Read Answers (2)
Answer Question     Subscribe 



What is the output? n=7623 { temp=n/10; result=temp*10+ result; n=n/10 } 
Latest Answer: compilation error ...
Read Answers (13)
Answer Question     Subscribe 



In a compiler there is 36 bit for a word and to store a character 8bits are needed. IN this to store
In a compiler there is 36 bit for a word and to store a character 8bits are needed. IN this to store a character two words are appended. Then for storing a K characters string, How many words are needed A. 2k/9 B. (2k+8)/9 C. (k+8)/9 D. 2*(k+8)/9 E. none 
Read Answers (2)
Answer Question     Subscribe 



Antonyms of placate A. abet B. enrage C. witness D. pacify 
Latest Answer: enrage. abet means to reduce.pacify is the synonym. ...
Read Answers (4)
Answer Question     Subscribe 
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